EARAROBEEIERT — 2 N— IBISH —F

201742R12H (H) 16E=H1H

mc“;f-ifm,_i,j',lj C2 ¥5%—#% ‘ [R&] B ‘ [eEmsm]l  — | & (&) 1400 E
[A&4£] 1% :300,000" ~ 23#%&:75000M”  33%&:38,000M  47&:22,000H .~ 57&:15,000 H
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
IASIEAH— H 6 Zgl_ﬂ’gl)fw 1:(3_3).1 6-6-5-1 [39.2 — | 1 (4828) %q;-# (EFi)
RiFaLN—h b= BiehIFIvA RS
SgO—y—x24 # 5 @?;jgﬂb 1:33.7 4-4-6-4 | 39.8| — | 3 | 472 E(il_la)ﬂdﬁp(‘ﬁ%ﬁ
o 3 &=
L:7H4F2>3NFK B:Yv—T7O— @ © A fE—
¢ > 6 | MRS 1:33.7 3-3-2-3 | 40.0| — 6 458 | TEEHEE] (&)
=P AE “ 7 56.0 (7€) 43 |BEE=
RN=VI514 BivvIv—H-F> EiRiis
LR/ FT—H— H o4 é-’:‘éﬁg’é% 1:33.9 2-2-1-2 |40.4| — | 2 | 489 Q?E%‘? (50
. 1) W
L:¥vTFobo—L Biebh/LETSUH (#3) #FH B
55/ 5| T—Y A 972 #oo | BREH 1:34.3 55-3-5 |40.6| — | 5 | 529 Eﬁ(g;ﬂf (%g/_u)
. 2 . = 7
A2 Y E—y BT =TS @ -2 NEHS
S > # o9 | REEE 1:34.8 7-7-7-6 | 40.5| — | 4 | 472 |AAEB) (SH)
6lglg| h—E>HIL2X 56.0 5 FAA
R:F4=TA>NNT7 b B:INTLAY ( ) (+6) BT 7 — L4
7111 |V=F1>T510 # 5 Héﬁﬁéﬁ 1.(36).3 8-8-8-8 |41.6| — | 8 | 410 ﬁ%ﬁ)ﬁﬂflp(ﬁg%ﬂ
. 7 )
RiEZIELLY b BUELIFL51Y RN e sy
S # 8 | SHEX 1:39.7 1-1-4-7 [46.2| — 7 463 | MAREBY (FH)
gl7l7| 213V —H— 56.0 P B
T4 H>Fr BiI-Y>5-U12R ( ) (+10) EEE;U%
® I —F—@EBIERL
13=zr= 7,6,4,3,5,2,8,1
Aol=5r= 7,6,4,3,5,2,8,1
BEE 6,4,5,7,2,3,8,1
43—+ — 2,6,4,3,5,8,7,1
[ RN
B OB 2 200H 714K 2-3 150H B = 2-3 320M &R 2-3-4 2,190
8 B 2 120/ 2-4 800F B E 2:3 550/ JEH 2-3-4 4,240
3 140 3-4 930
4 370M

ABICOVWTRDTEEERROODE. TR LIV,




